

(1)

$$\lim_{n \rightarrow \infty} \sqrt[3]{3^{3n} + 4 \cdot 2^{3n}} - \sqrt{3^{3n} + 2^{3n}} = \lim_{n \rightarrow \infty} \frac{\sqrt[3]{3 \cdot 3^{3n} + 4 \cdot 2^{3n}} - \sqrt{3 \cdot 3^{3n} + 2 \cdot 2^{3n}}}{\sqrt[3]{3^{3n} + 2 \cdot 2^{3n}} - \sqrt{3^{3n} + 2^{3n}}}$$

$$\Rightarrow a_n > 0 : \lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n} = A \Leftrightarrow \lim_{n \rightarrow \infty} \sqrt[n]{a_n} = A$$

zlomel rozšířime podle vzorce $(A-B)(A+B) = A^2 - B^2$

$$= \lim_{n \rightarrow \infty} \frac{(3 \cdot 3^{3n} + 4 \cdot 2^{3n} - 3 \cdot 3^{3n} - 2 \cdot 2^{3n}) (\sqrt[3]{3^{3n} + 2 \cdot 2^{3n}} + \sqrt{3^{3n} + 2^{3n}})}{(3^{3n} + 2 \cdot 2^{3n} - 3^{3n} - 2^{3n}) (\sqrt[3]{3 \cdot 3^{3n} + 4 \cdot 2^{3n}} + \sqrt{3 \cdot 3^{3n} + 2 \cdot 2^{3n}})} =$$

$$= \lim_{n \rightarrow \infty} \frac{2 \cdot 2^{3n} \cdot (\sqrt[3]{3^{3n} + 2 \cdot 2^{3n}} + \sqrt{3^{3n} + 2^{3n}})}{2^{3n} \cdot (\sqrt[3]{3 \cdot 3^{3n} + 4 \cdot 2^{3n}} + \sqrt{3 \cdot 3^{3n} + 2 \cdot 2^{3n}})} \stackrel{VOAL}{=} \lim_{n \rightarrow \infty} 2 \cdot \lim_{n \rightarrow \infty} \frac{\sqrt[3]{3^{3n} + 2 \cdot 2^{3n}} + \sqrt{3^{3n} + 2^{3n}}}{\sqrt[3]{3 \cdot 3^{3n} + 4 \cdot 2^{3n}} + \sqrt{3 \cdot 3^{3n} + 2 \cdot 2^{3n}}}$$

$$= 2 \cdot \lim_{n \rightarrow \infty} \frac{\sqrt[3]{3^{3n} \cdot (1 + 2 \cdot (\frac{2}{3})^{3n})} + \sqrt{3^{3n} \cdot (1 + (\frac{2}{3})^{3n})}}{\sqrt[3]{3 \cdot 3^{3n} \cdot (1 + \frac{4}{3} (\frac{2}{3})^{3n})} + \sqrt{3 \cdot 3^{3n} \cdot (1 + \frac{2}{3} (\frac{2}{3})^{3n})}} =$$

$$= 2 \cdot \lim_{n \rightarrow \infty} \frac{\sqrt[3]{3^n (\sqrt[3]{1 + 2 \cdot (\frac{2}{3})^{3n}} + \sqrt{1 + (\frac{2}{3})^{3n}})}}{\sqrt[3]{3 \cdot 3^n (\sqrt[3]{1 + \frac{4}{3} (\frac{2}{3})^{3n}} + \sqrt{1 + \frac{2}{3} (\frac{2}{3})^{3n}})}} =$$

$$\stackrel{VOAL}{=} 2 \cdot \lim_{n \rightarrow \infty} \frac{1}{\sqrt[3]{3}} \cdot \lim_{n \rightarrow \infty} \frac{\sqrt[3]{1 + 2 \cdot (\frac{2}{3})^{3n}} + \sqrt{1 + (\frac{2}{3})^{3n}}}{\sqrt[3]{1 + \frac{4}{3} (\frac{2}{3})^{3n}} + \sqrt{1 + \frac{2}{3} (\frac{2}{3})^{3n}}} \stackrel{VOAL}{=} =$$

$$\stackrel{VOAL}{=} 2 \cdot \frac{1}{\sqrt[3]{3}} \cdot \frac{\sqrt[3]{\lim 1 + \lim 2 \cdot \lim (\frac{2}{3})^{3n}} + \sqrt{\lim 1 + \lim (\frac{2}{3})^{3n}}}{\sqrt[3]{\lim 1 + \lim \frac{4}{3} \cdot \lim (\frac{2}{3})^{3n}} + \sqrt{\lim 1 + \lim \frac{2}{3} \cdot \lim (\frac{2}{3})^{3n}}} =$$

$\lim a_n^q = (\lim a_n)^q$ $q \in \mathbb{Q}, a_n > 0$
 $\lim_{n \rightarrow \infty} \sqrt[3]{1 + 2 \cdot (\frac{2}{3})^{3n}} > 0$
 \Rightarrow desířní limitu

$$\stackrel{102P}{=} 2 \cdot \frac{1}{\sqrt[3]{3}} \cdot \frac{\sqrt[3]{1 + 2 \cdot 0} + \sqrt{1 + 0}}{\sqrt[3]{1 + \frac{4}{3} \cdot 0} + \sqrt{1 + \frac{2}{3} \cdot 0}} = 2 \cdot \frac{1}{\sqrt[3]{3}} \cdot \frac{1 + 1}{1 + 1} = \frac{2}{\sqrt[3]{3}}$$

$\lim (\frac{2}{3})^{3n} = 0$ \rightarrow nechce být větší
 $0 \leq (\frac{2}{3})^{3n} = \frac{1}{(\frac{3}{2})^{3n}} \leq \frac{1}{n} \rightarrow 0$